N = 0l & At & Ml A

M ZHRS
HH: AH2IIH(IMRSDH)(IIE/IIEH

¢l =gl (chel & 9l)
- _ _ RE]
SA BB (SH) - NRAY - B Ol &F o4 %@ﬁ HRE2
A M wE D 25,203,308 20,703,262 4,500,046
= 1,764,060
Xl 72,910
= 578,837
= 22,787,501
SHMSAAH (I M RED)(IIEH/DIE 61,655 56,833 4,822
Jl2ddl 61,655 56,833 4,822
Jl2&H| 61,655 56,833 4,822
201 et 27,132 23,529 3,603
01 AP 2t 2] H| 24,732 21,729 3,003
Ogttf2H| 18,204
— &40 22 67,100& 10 12 806
— AI24A JAH ARE 22!
230,000 x3=+12& 8,280
—SHAIS S92 HE - 2 53,000 60K 318
— AMRA AIE AIREE 7Y
0,000& x5 x12& 1,800
—AMRA A2 28 2
40,000& x10&5+12& 4,800
—NEREE 550,000& 4= 0| 2,200
==l 8,000 x17H x4 Al x12& 6,528
02 2%l 2,400 1,800 600
OZ23222 ¢ HA 200,000& «12& 2,400
202 04| 30,923 29,104 1,819
01 2L Hl 30,923 29,104 1,819
ORME2Y JI=LREA ofy|
120,000& 178 x12& 24,480
O20d (23 &4 5)
75,800& 17 x5 6,443
203 R F & 3,600 4,200 A 600
04 EASHEYRFAH| 3,600 4,200 A 600
OBA2IEA2 =X (HKA20010/3})
300,000 x12& 3,600
NEHHAUAZ (=SLDVE/HZSNE - SFSIIE 7,647,167 7,916,347 A 269,180
= 67,800
o=t 272,374
= 7,306,993
HEDNE 2SEF 7,188,696 6,953,932 234,764
= 67,800
& 272,374
= 6,848,522
g, OISHA 2SI 1,762,000 1,322,000 440,000
o= 246,000
= 1,516,000




2N
X ZH -
L= B

el

= - = 4 &
SH BB (3H) - NRAE - BAS of 4 o4 il HI RS2
301 LetE o= 120,000 70,000 50,000
= 50,000
= 70,000
NIJ2d= 120,000 70,000 50,000
OEUEASEHA 20 OHE U=
120,000,000& * 14! 120,000
< 50,000
= 70,000
307 glztol & 1,042,000 1,012,000 30,000
= 196,000
T 846,000
09 2+8AHEXS 1,042,000 1,012,000 30,000
O8Il =dEXS 670,000,000 670,000
S 100,000
s 570,000
O0t=sHA2d 2&% 2x3 100,000,000 100,000
OsHEHA2Y MHEXA (43 M)
260,000,000& 260,000
S 90,000
= 170,000
OsHEHA =2 N X3
8,000, 000% * 14 8,000
S 4,000
= 4,000
OHANR=E IIEZM +==2 4,000, 000& 4,000
S 2,000
[Ea 2,000
405 THatF = 600,000 240,000 360,000
01 ML ESFHSH 600,000 240,000 360,000
O3gbA F(sHEHA)
120,000, 000& *5CH 600,000
HA 2 3= 2EMY XH 4,966,816 5,394,600 N427,784
307 glztol & 4,963,913 5,280,600 A 316,687
09 2+gHEEXS 4,963,913 5,280,600 A 316,687
O=2+gH RIMEX 4,961,663
—OtsH A 400,000 1CH=12& 4,800
— L EHEA| 100,000 »32CH x 123 38,400
— JHQIE Al 100,000 ~48CH x 123 57,600
—SHEHA 800,000& »8CH 12 76,800
—SgEN= 531,562 .53 «7500H »12& 4,784,063
OHAIZIEZ M S2I] W 300, 000& =504 1,500
O8Al LXNE 2dIIEEX WA
150,000& »5CH 750
308 XXM SO0l & 2,903 10,000 AT,097
1037/ 2S0HUS3 LA AL 2,903 10,000 AT,097
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2A4: BHEDN
HM: DEHHAUL (LN E/WESNE - SFEIIE
ol HADE 25E CERED
(o
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
= 1,820
= 200,780
05 QIZtR E S 202,600 182,600 20,000
OSENS4+S(BLUA) 29
50,000, 000 =4CH 200,000
OSEDNELT S22 S82
2,600,000& 2,600
= 1,820
= 780
EHAIZERE 24 A& 104,000 0 104,000
= 31,200
= 72,800
301 LBt A= 104,000 0 104,000
= 31,200
= 72,800
11 JIEtE A= 104,000 0 104,000
OEAZ X EAAS 13,000,000 8CH 104,000
= 31,200
= 72,800
AN 2 XI20|SHZDEI E BXAY 73,200 0 73,200
= 36,600
= 11,000
= 25,600
307 QI2t0| ™ 73,200 0 73,200
= 36,600
& 11,000
= 25,600
09 2LHAHEXS 73,200 0 73,200
OANZE XE XIZO0/EZFDEX H= EX
73,200,000 x 14! 73,200
= 36,600
= 11,000
= 25,600
NEUHNMAIEE &5 458,471 962,415 A 503,944
WEAMAIE &K 290,074 337,010 N46,936
401 AlEHIZL 2 0HY| 290,074 337,010 N46,936
01 Al&EH| 288,000 334,600 AN 46,600
QUENSI FRAES 22,000,000& = 14! 22,000
OMOI2] &S &X ¥ =
1,000, 000& 100 & 10,000
OusSoHNMEXZ AX ¥ WH
500, 000& *20JH 2~ 10,000
OBIAIE &X & B4 500,000 *200H A~ 10,000
OEzEZX® X & B 400,000 *2504 &~ 10,000
OXERMES &X 100, 000& * 10004 &~ 10,000
O9 gzl &2 EH HEA 60,000,000 * 14! 60,000




FAN: FHLSH
M DsdHFA(+SLUE/HENS - 2R SIIE)
Chel: NEUHMAILE &5 (&)
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
OHA 2101823 &X 10,000,000 *5H 2 50,000
Ounstlss =5 2= WA
12,000,000 *3H 2 36,000
OHAZIOISZE RXE=  10,000,000& 14! 10,000
OZ2s 2 Mss X 15,000, 000& »24! 30,000
O8H4Es ZHEX(LED £&S) &xX
5,000,000 *20H 2~ 10,000
Ok nsdsHoE WA
5,000,000 *4H 2 20,000
03 A& =TI 2,074 2,410 A 336
OuSHEAIE EX AIZR20H
288,000,000& *0.72/100 2,074
=Xh2el 129,997 82,329 47,668
101 @124 dl 89,997 77,329 12,668
4 DIt Z2XREES 89,997 77,329 12,668
OFx2el SHARY 2=
60,2403 x 1 340 20,482
OFFX NEthx 212 60,240 3% 340 61,445
O4tiEdg = 81,927,000& *0.0985 8,070
201 LBH2d| 5,000 5,000 0
02 3323l 5,000 5,000 0
Ot (CCTV) MAFY R E 4
5,000,000 =14l 5,000
405 XHobF S HI 35,000 0 35,000
01 XL 2 Z FH S| 35,000 0 35,000
OF XS =(CCTV) WX &X1 35,000,000 *14] 35,000
st 4229 & 38,400 59,620 A 21,220
201 L2l 34,900 31,120 3,780
01 At 2t 2l 2,900 2,900 0
ONSAVXY AEIH, F10Z % 22 Mo
QI 24 100& *3Z *5,0000H 1,500
OFEX=A=Y etifEXE &X
70,0003 *2004 & 1,400
02 =224l 32,000 28,220 3,780
OZ222= % HAl 27,200
—WEHUHA HIERS L FAZ2lH
70,0003 304 A+ 12 2,520
~DEABES HILY GHEFY 242
5,000,000& =13l 5,000
— 28 - FEI WS DM S8 RE=Z
1,200,000& 122 14,400
—nsStss dIIKe3 400,000& 123 4,800
— HZ 28 ZAIItHe SHLe3
40,000& 123 480




AN ZHMLSH
M ey A (>SLUE/HELE - EFSIIH)
CHel DENMALE S (ctel:&2)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OAIE ZHI S X 4,800
—R2E RHYXNSIALAE S+
3,800,000 » 14 3,800
— =28 ZA0HH 2 RAE+
1,000, 0002 *14] 1,000
307 21201 A 3,500 3,500 0
02 QB AAHEX 3,500 3,500 0
OJI=2MX2101 & E244W &5 3,500,000 3,500
Ao TE(MY - SAI|/aY - SA)| o) 5,090,369 2,585,474 2,504,895
= 1,260,660
Xl 72,910
< 192,013
[ia 3,564,786
EXJNESH(BLINESHISSESA) 90,000 90,000 0
JIgEgXt OIMENS 90,000 90,000 0
307 21201 A 90,000 90,000 0
08 OIXt2& = 90,000 90,000 0
OsxJIg=sdlls Xt OIXEdES
3,000,000,000& *3/100 90,000
StotE & MSAE 2435 885,463 774,543 110,920
= 94,560
< 122,000
i 668,903
StHE 2t 35,331 29,531 5,800
< 3,600
i 31,731
101 124 dl 11,096 11,096 0
< 2,400
e 8,696
04 JI2ZHHZ2XREES 11,096 11,096 0
O2EA BLIHR@ 22|
362,320 x2H x12& 8,696
O SItE=AM ZLEHE oA
200,000& x 18 128 2,400
< 2,400
201 L2l 17,760 11,960 5,800
01 At 2t 2l 14,720 7,720 7,000
Oget=&H| 13,600
—SHF UK EY 222 MA
5,000& =4000H 2,000
— HEI ZEIIZEA 7,000,000& » 14 7,000
—2FNMA HES (2, 23AF)
4,600,000& 4,600
Oo=24d=+¢ 1,120
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2A4: BHEDN
HE: XEMA DS (MY - SAD|A/AS - SAD| B
oot 2UI0IE U MEANF BH3 (ero: @ 9)
SN ED B (3H) - MEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2
= 400
= 4,000
old MEANE 43 122,363 115,441 6,922
101 Q124 H| 21,159 18,181 2,978
04 JI2ZtHIZ22NEES 21,159 18,181 2,978
OUAYHEANF #AWY ALY
60,2403 1 x320 19,277
o482 19,277,000 «0.0976 1,882
201 LBt 9| 18,880 17,520 1,360
01 AP 22| d| 3,880 2,520 1,360
O3l 2,880
— O HNEANEE LT SAH|
8,000 *x3¥ x104!l x12& 2,880
Ogttf==2y| 1,000
~YHEANY FRYY £2F 7Y
1,000,000 = 14! 1,000
02 22244l 15,000 15,000 0
O3322 % HA 4,200
— &) Y Mol E 2= 350,000& x12& 4,200
OA & &Hl 8 XYl 10,800
OIHMESAE F=XUHLUE ACAIE HEEA
2 AY| 300,000 x12& 3,600
— O HNESANE FINLE 22 FA 224
600,000 x12& 7,200
307 QI2t0| ™ 22,000 19,200 2,800
02 AI2tAAMAIE E =X 22,000 19,200 2,800
OSYHEAZ OIHOIE SXZ2I(ALAALES)
666,600 x12& 8,000
OBHESAEYE B3I A L KA 22
3,500,000 #2204 & 7,000
O9BAEESAIE USHLAEH S22
583,300 x12& 7,000
401 AlEHIZL 2 0HY| 60,324 60,540 N216
01 Al&H| 60,000 60,000 0
OoHANMSAIZ otEZUR(HMD], AL IIASE
=3 At 30,000,000 x 1Al 30,000
OBHESAIE “FAE HES=Z2A
30,000,000 =14 A 30,000
03 Al 20| 324 540 A216
OoBNMEANE AEH E=Z2AF AIE 20|
30,000,0002 *1.08/100 324
el MEANE 435 101,699 96,921 4,778
101 2121 H] 21,159 18,181 2,978




2N
X ZH -
L= B

el

= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
04 JIZHHZ2XREES 21,159 18, 181 2,978
OMBIAIE BEFY A%
60,2403 x 18 320 19,277
C4liEg = 19,277,000& *0.0976 1,882
201 et 12,000 11,000 1,000
01 At 22l 3,000 2,500 500
OdlEH S JAE & HA 2 JX2a
1,500, 000& *20H 2 13 3,000
02 =224l 9,000 8,500 500
OA& ZHI R Xl 9,000
—AEZRANY SN2
2,000,000 24 A %13 4,000
—AUBHEAE AYAL HHEY 8
5,000,000& =14 5,000
307 gl2tol & 8,000 7,200 800
02 IZtA M AIHE L 8,000 7,200 800
OUBIEEAIE OIHOIE S22 (AHAES)
666,600 122 8,000
401 AIEHIZ 28I 60,540 60,540 0
01 A& Hl 60,000 60,000 0
OB EANZE == AIE HES=IA
30,000,000& =14 2 30,000
OU/IBIAIE P AL (&I, 48 HAS)ESS
At 30,000,000& =14 30,000
03 Al 20 HI 540 540 0
OAIBHAIZ AlZ2CHElI  60,000,000& «0.90/100 540
sazte XA 448,600 348,600 100,000
< 118,000
s 330,600
202 Od4dl 3,600 3,600 0
01 = LH o4 4l 3,600 3,600 0
osaaelg: AN 20,000 »4H 452 3,600
402 RIZ2EXt20l ™ 400,000 300,000 100,000
< 100,000
[ia 300,000
02 22t X2 AL E X (01X THE) 400,000 300,000 100,000
Oodgdz ZTAIIA SSH2EX
400,000,000 » 14! 400,000
= 100,000
= 300,000
403 MHXISHE X201 E 45,000 45,000 0
< 18,000
s 27,000
02 SO 2SHHEAEE 2 E AL 45,000 45,000 0




2N
X ZH -
L= B

el

ZHusSn
KAy DS (LY - SAIN/6Y - SAIF LBt
SHd % HSANE 245

5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
ONMEIE JIAELEE E2AY
50,000& 6002+ = 30,000
= 15,000
s 15,000
OMBE EIIAAMNEAY 250,000 *609t 7 15,000
< 3,000
[ia 12,000
HdSAE SHOtSEH K& 20,000 10,000 10,000
307 21201 A 20,000 10,000 10,000
04 QIZFHALAIH B = 20,000 10,000 10,000
OASHESAIE &tits At
10,000, 0003 * 100 A %13 10,000
OUBtESAIE etots ALY
10,000, 0003 * 100 A %13 10,000
MeIE DFAANEMEAS 61,250 61,250 0
= 49,000
e 12,250
403 MtXISHH S0l & 61,250 61,250 0
= 49,000
s 12,250
02 S 2SO HEAE R 2 E AL 61,250 61,250 0
ONE S JtAANAEINSAS 245,000 2500+ 61,250
= 49,000
[ia 12,250
HAAS MHX=R 91,120 97,700 A 6,580
= 45,560
s 45,560
401 AIEHI L 20 91,120 97,700 A 6,580
= 45,560
s 45,560
01 A& HI 91,120 97,700 A 6,580
OFA4AHES LED WHMALY  45,560,000& 200 & 91,120
= 45,560
s 45,560
ITHE O HX 23 AL 2,302,502 613,799 1,688,703
= 1,096,100
< 20,000
s 1,186,402
AITHA O A X XIS X2 A (XEA) 7,873 85,799 ANTT,926
202 Odl 2,000 2,000 0
01 = LH 4 Hi 2,000 2,000 0
OATHMUH XSS =&
20,0003 »2H «50 2,000
203 ¥ S =&l 1,000 1,000 0
03 AIHF=XH R =AH| 1,000 1,000 0




2N
X ZH -
L= B

el

- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
OMTHMAH UK 2= 20,000& x 10 x53| 1,000
401 A& H|IZ 2 0HY| 4,873 2,799 2,074
03 AlE 20| 4,873 2,799 2,074
OXMTHMAHHX XIAXAY AL S0
267,180,000< x0.72/100 1,924
OHEAZE BHYZ EZ A AI&E20 |
468,000,000< x0.63/100 2,949
MM HX XGSXRAS(EBX) 267,180 528,000 A 260,820
= 133,590
= 133,590
401 AlEHIZL 2 0HY| 267,180 528,000 A 260,820
= 133,590
= 133,590
01 Al&H| 267,180 528,000 A 260,820
OATHMHK XNSXNFAS (B2 AEHSHA
2 S 6IHA) 267,180,000 « 1Al 267,180
= 133,590
o 133,590
NI X =X &AL 80,000 0 80,000
= 20,000
= 60,000
402 IV X201 & 80,000 0 80,000
& 20,000
= 60,000
02 BIZXIEANYEX(0OIETHH) 80,000 0 80,000
OXMTHMHH X =X 2,000,000& x40 80,000
o 20,000
= 60,000
A2 HYZ ESAY 468,000 0 468,000
= 234,000
= 234,000
401 Al HI L £ 0HHI 468,000 0 468,000
= 234,000
= 234,000
01 Al& H| 468,000 0 468,000
OZ2Y BHYZ SESAE (430 A)
468,000,000 1Al 468,000
= 234,000
= 234,000
DILIEHEZ BE2AIE 20,100 0 20,100
= 6,700
= 13,400
402 SI2FXHE0| & 20,100 0 20,100
= 6,700
= 13,400
02 QX2 A E X (0| ETHS) 20,100 0 20,100




SN BHDSH
Ha: oMY FE(MY - BAIY/MY - AT QA
ool ATHANUA 2SAY

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
ODLINEE 25AtY
1,340,000 209t 7 x0.75 20,100
= 6,700
s 13,400
AN HX ESE XA 1,459,349 0 1,459,349
= 721,810
s 737,539
402 2I2H X201 M 1,459,349 0 1,459,349
= 721,810
s 737,539
02 2IZEH 2 A EZ (OIS ) 1,459,349 0 1,459,349
OUMEUHUHX =X A
1,459,349,000& 14 1,459,349
= 721,810
s 737,539
sAJIgsd N&E 164,000 34,000 130,000
= 20,000
< 9,000
[ia 135,000
SEXS XX A 1,000 1,000 0
203 ¥ S =&l 1,000 1,000 0
03 AIF=XH 2 =AY 1,000 1,000 0
O=2Jg=sd 2 JIQMZ2AaY 2tE 3
20,0003 x10H #53] 1,000
JGNAGE2Y 5,000 5,000 0
202 44l 4,000 4,000 0
01 S LHOIYI 4,000 4,000 0
OJIGXNAL L F&HYI 20,0003 »4H x50 4,000
203 YR =&l 1,000 1,000 0
03 AIF=XH R =AH| 1,000 1,000 0
OFXsX gR=2 20,000& x10E x53] 1,000
ngexaz XN 18,000 18,000 0
< 9,000
s 9,000
307 glz2+ol & 18,000 18,000 0
< 9,000
s 9,000
02 QIZtE A AHE X 18,000 18,000 0
OFYIIY MrnELH EXx3 XE
500,000 x6H x6& 18,000
< 9,000
e 9,000
SAINGIN&ENLENA 40,000 10,000 30,000
= 20,000
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